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Need Help? Chat with us!

You can chat with us directly on our website.
Chat Hours: Mon-Fri 09:00 - 18:00/KST
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EGOJIN Step Platform used high quality, durable PP material.

For safety enhancement, it used anti-slip technique on the surface,
and wide footrest help you to do various movements on it.

Height adjustment available with stacking design.
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FITNESS EQUIPMENT

780(L) * 280(W) * 100/150/200(H)
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* Please read product manual for right usage of this product.

* There is product guarantee in the bottom of the manual. (Only Valid in South Korea)
* Product Appearance may change without notice for product improvement purpose.
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Step platform has stair climbing effect. It strengthens your thigh,
hip, ankle and knee joints, and helps to reduce overall body fat by
increasing basal metabolism. Also, it is also an effective
aerobic/anaerobic exercise which creates hip-ups and leg lines.
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HetA 3t X3 [How to Adjust]
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Height Adjustable Blocks (4pcs)
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Mountain Climber
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Lunge
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Step Kick “
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Hip Thrust
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